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A & 0l & AtES & Al

A

A HEX2
M YPHES TA 24
=t ZADIE = (CH9: &S1)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HunsZ
AT 1 5,265,121 5,040,785 224,336
S TAl =4 5,170,160 4,945,824 224,336
SADIR = 5,141,012 4,916,676 224,336
SEAE &5 & 2el 2,467,659 2,447,659 20,000
206 M=zl 97,076 77,076 20,000
01 M=l 97,076 77,076 20,000
O3 AtMZ(HLAD]) HH| X 2 20,000 0 20,000
-2& 7 160,000& *50m’ 8,000 0 8,000
-S™E 30,0002 *400m 12,000 0 12,000
ceZE cl22E SAt 150,000 50,000 100,000
401 AIEHIZL 20HY 150,000 50,000 100,000
01 Al&HI 150,000 50,000 100,000
OLITHMNUX SRS XA (SEXFL
23 HdEH0A) 100,000 0 100,000
0210|132 2|22E BAl 210,000 150,000 60,000
401 AIEHIL20HY 210,000 150,000 60,000
01 Al&HI 210,000 150,000 60,000
Oul2|B& O2I0l=0lE &EXIBAt 40,000 0 40,000
OJNDISE S+ HUISAt 20,000 0 20,000
=XAE &5 & 2l 1,993,353 1,949,017 44,336
201 L= 91,063 64,227 26,836
01 AtR2telt] 24,916 18,480 6,436
Uot=ZH] 8,900 4,000 4,900
—=XAIE OHLHE 400,000 2004 8,000 4,000 4,000
-AR LA Y ARE(GEXN, F
2z, A, 2 S) 150,000 x60H & 900 0 900
O=Xl =A 223 S|
8,000 x4 *43|x 1204 & 1,536 0 1,536
02 S22l 66,147 45,747 20,400
OAlEEHIS X 41,475 29,475 12,000
—=sX B2 B A4 =4
300,000 *50H 15,000 6,000 9,000
-=X 32 1S 22 &3
150,000& *601 = 9,000 6,000 3,000
OZ232= 2 HMAl 24,672 16,272 8,400
-=XAIE &) 23
1,500,000& 122 18,000 13,200 4,800
-=XAE =k 23 556,000+ 122 6.672 3,072 3,600
206 Mz bl 26,000 18,500 7,500
01 Mz Hl 26,000 18,500 7,500
O=sXAE 228 A24 JIXHM 26,000 18,500 7,500
—HOANE B HI(IM, AHZ, 20
o s) 5,000 2,500 2,500
-8 ZH| SE(&8, IFSs, B 8) 10,000 5,000 5,000
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SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
401 AIZHIY 20 1,540,500 1,530,500 10,000
01 A=l 1,540,000 1,530,000 10,000
OMSAIE XM (28217 &X) 10,000 0 10,000
—-HZ(aul) 7,900 0 7,900
-2 G| 2,100 0 2,100
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